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14U/94/4(ii)
No. of Questions : 100
Al ) €S9 ¢ 100

1

Time : QEHours Pull Marks : 300
1

w2 wve yorlE : 300

Note : (1) This question booklet contains 100 (hundred) questions in all
(30 in Section-A and 70 in section-B). Attempt as many
questions as you can. Each question carries 3 (Three| marks.
One mark will be deducted for each incorrect answer. Zero
mark will be awarded for each unattempted question.

Q9 g-giawm # {1 100 () 957 & (@m@s-o7 ¥ 3049
qUs-q § 70) | SAFHIAF AT H T FEA H 99T B | TH
g 3 (fF) ofwt =1 B sl Jaq IU7 & g 9% Fe
BIET S TAF ITARG A H AR L M

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

gfs umfes fvas 39T 98 IR % Freee wdig 1, A Meem
udt Suv £

3 P.T.O.
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01.

02.

03,

Section-A
(CRELET"]

P.W.D. Act, 1995 is related to :
(1} People's works department
(2} People's welfare department
(3] People with Disabilities

{4) People with disease

ﬁog'ﬁiﬂﬁoqfﬁf. 1995 o1 Ha=g 2
(1} WY g fRurdd= @
(2) gy AR feurde= |

(3) g o Reefrgd |
(4) digw frg fafig &

National Institute of Mental Health and Neuro Sciences is situated at :
(1) Lucknow {2) Bhopal (3) Bangalare {4) Delhij

%&Hﬁﬁ«“ﬂzﬁzaﬂtﬁﬂ?ﬁ%wmqﬁﬁisﬁmﬁwa%:
(1) T 3 (2) A § (3) dqa S {4) Rwh &

The Cabinet of which state in March 2012 decided to give a grant of
Rs. 30,000 to high school pass Muslims girls for perusing their
education and marriage ?

(1} Uttar Pradesh (2) West Bengal
(3) Andhra Pradesh (4) Delhi

ﬁsﬂm%ﬁﬁqmg%mﬁznlzﬁmﬁﬁqmg%qmmaﬁ
ﬁmmwﬁw%%ﬂmpmmwm@qmmﬁw
et R ?

(1) 3T 929 (2) ofd=y g (3] &% Mot (4) Rk
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04, Who wrote the famous book - 'We the people’ ?

(1) T.N.Kaul (2} J.R. D. Tata

(3) Khushwant Singh {4) Nani Palkhivala

‘Y T dger” e AwgR IR e ferel o ?

(1) <lo THo i A (2} Slo 3Re Flo zmET A
(3) gva— fHg A (4) T OTETEREET A

The theme of the 11™ global monitoring report 2013-14 of UNESCO
was !

(1} Teaching and Learning : Achieving quality for all
{2) World Peace : Education and value
(3) Environmental Pollution

(4) Women Empowerment and Education

AR @ WEdl wEe AtteR Rad 2013-14 ®1 gw R o
(1} &n aes afH o i @mfwd s et

(2) oS 9\ : Rerm o 3y

(3) FEETEeA dfegee

(4) T FAEHT T3 TIHA

Who is the present director of NCERT ?
(1) Prof. J.S. Rajput

(2) Prof. Parvin Kiran Sinclair

(3) Prof. A. K. S8harma

(4) Prof. Krishna Kumar

Fas F oA & PRy B 3 7
(1} Y. F.QH. Ty (2) =Y. 9dH B T
{3) or. <. &, g+ (4) Y. FT FA

5 _ Pr.T.O.
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07.

08,

NEUPA was established in :

(1) 1976 (2) 1986 (3) 1996 (4) 2006
T e g

(1) 1976 9 (2) 1986F (3} 19967 (4) 2006
NIOS is known as :

(1} National Institute of Open Schooling

(2} National Institute of Open School

(3) National [nstitute of Overseas Schooling

(4] National Institute of Open Scholars

U7 g & oF T omrer 2

(1) A ST oltw o wogfir

(2) AT Y A e el

() T TEgE oite siavadr wfaiT

(4) AT §egE A oM =i

EDUSAT satellite was launched on

(1) 20w September, 2003 (2) 20%n September, 2004
(3) 20" September, 2005 (4} 20" September, 2006

S g uF T H o A

(1) 20 Re=z, 2003 #r Ry o oy
(2) 20 fya=r, 2004 =t Rpar a7 9r
(3) 20 THT=T, 2005 ) BT o7 Wy
(4} 20 Py, 2006 H f&ur Ty ap



10.

11,

12,

13.

14,

14U/94/441)

The full form of NTS E is :

(1} National Technician Search Education
(2) National Teacher Search Examination
(3) National Talent Search Examination
(4) Naticnal Talent Selection Examination

R TH Ao A B

(1) Ay i ad oo
(2} A3 7 9d oFmiiEeE
(3) AT TA= W gFeNRAYH

(4] AT IS= TS s

3, 10, 101, ?
(1) 100101 {(2) 10201 (3) 10202 (4) 11012

If § is the brother of N, the sister of N is M, the brother of P is J and
the daughter of S is P then who is the uncle of J ?

(1) J (2) s (3] N 4) M

afE 9 9 @ 2, AWM TEAHE gm 5B e g R
g SNl oAy e =

(1) =1 2} & (3} = (4) =
Child : Family ::

(1) Flower : Bunch (2) Bird : Set

{3) Calf: Herd (4) Deer: Gang

C =2 R TG ) L

(1) G 2 == (2) Fafgar : wz

(3) BT : Yos (4) g :

Which word does NOT belong with the others 7
(1) leopard (2) Jaguar (3) elephant (4] lion

T P.T.0.
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15,

16.

e & & B9 Ao oo @ e Y
(1) < (2) <Agam (3) @R 4) FT

Which word does NOT belong with the others 7

(1) guitar (2) flute (3) wiolin (4) sitar
Fre # & 99 o9 | dwafyg -t 3 7

(1) Frer (2) srgdh (3) amfes (4) T

FAG, GAF, HAI, IAH,
(1) JAK (2) HAL (3} HAK (4) JAl

 TECHA, NMuaw o, o e, ... - N

17.

18.

19,

(1) ¥ TBH (2) Weod (3) T H (4) St q 3
Life is rclated to Death in the same way as Hope is related to :
(1) Sad (2) Despair (3) Pain {4 Cry

AT B T g F ¥ I gET o gatug B
(1) g= & 2 Froma @ =3 (4} Famm @

Mind : Body :: :

(1) Water : Air (2) CPU: Hard Disk

{3) Ship: Oil (4} Softwure : Computer
74 ST

(1) Ol ;oA (2) @y : edfews
(3) S8R : A9 (4) ®FEEaY : HrgEy

Which number would replace question mark in the series
e L G e e (e

HYTETEE & 9 R IHF SaEy
(1) 29 (2) 28 (3) 26 (4) 24



20.

21.

22,
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Secretly is to openly as silently is to :

{1} scarcely {2) impolitely

(3] noisily (4) quietly

I Mo goww & i & 39 feaan

(1) g & R & (2) oy F 9 B
(3) s ® AR 4) sfa s R

In order to modify the undesirable behaviour of a student the most
effective method is :

{1) To find out the reasons for the undesirable behaviour and pro-
vide remedies

(2] To bring it to the notice of parents
(3] Te punish the student
(4) To ignore it

gEf & ST HFe B Gaud D A A gEq wywHEarRh & 2

(1) <AFiST FAGeIC & HON H G T HT IR ITAL T4
&L

(2) AfyamERt H gfEa FE
(3) BT W Ve
(4) WS IV HEN

At authoritarian level teaching is :
{1} Teacher centered (2} Child- centered

(3) Headmaster centered (4) Experience based

frimer =X o fAw
(1) S1oah Fsa oar & (2) = B e @
(3) WurTEAS e o B (4) AgEA owmia B

9 P‘T.D.
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23.

24,

What type of teacher would you like to be ?

(1} A teacher who teaches the whole curriculum

(2) A teacher who helps his students in learning

(3] Teacher who is a friend, philosopher and guide of his students

(4) A teacher who maintains good discipline.

Y 55y IR 1 e S =R 2

(1) FHNE M & q¥ 9egzmesy #) qemr &

(2) A S Hew A B # grEdr Hear
(B) HEANF AN Bl w B, i ol mes
(4) HWETTR T T AFART TETm B

You arc teaching a topic and a student asks a question unrelated to
the topic. What will yvou do ?

(1) You will permit him to ask unrelated question
(2) You will not permit him for this
(3) You will consider him as undisciplined and punish him

(4) You will answer the question after the class

mmﬁ%%mﬁ%aﬂr%mmﬁmﬁaﬁuﬁm
AT B 1 SN Fqr FIF 7

(1) 319 IH SECIT 997 g8 # orgEfy 0
(2) maﬁaﬂaﬁeﬁnﬁg\sﬁaﬁaﬂqﬁr:{ﬁﬁ
(3) Y T FEH ARy W I

(4) AT FAOT 5G9 ST )

10
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2%. [f a student gives wrong answer to your question you will

26.

(1) Scold him for not having learnt his lesson properly
(2) Explain why his answer is wrong
(3) Ignore the wrong answer

(4) Ask another student to answer and ignore him

uﬁﬁmmﬁ%mmﬂaﬁwaﬂ%aﬁm

(1) I8 39 9% B HF F ° ged & k@ =it

(2) g& W HL fF IFH InC A WA B

(3) I IEX 9T HH A6 &9

(4) FREl gAY BF ¥ I 3 H FHRY offt I 3Iem w0t

If I will become a teacher my most preferred activity will be to
(1) Give important questions to students before examination
(2] Dictate notes in the class

(3) Clear their difficulties regarding subject-matter

(4) Make student disciplined

af} ¥ Uk FwE T AHW A A qwQ q@dRr FE g
(1) 98em | 9et S H Teagel 999 Fav AT

(2) T F AEHW I

(3) Rrag axg & w=tya ST wfeagsdt &t g s

(4) BEl H FFAT AN

11 P.T.O.
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27,

8.

For becoming a good teacher, the most important quality of a person
is :

1) Genuine interest in teaching
[2) Knowledge of his subject
(3) Ahility to control students

{4} Ability of good expression

U AT FAATH F99 B 2, o e a w98 weayet degm
2

(1) fImror & 3Ifae sfy @

2) g =+ s9 @

(3) BEl ® FEEE @A &/t drgar &

(4) o=l Hiy=fam @51 drmaar e

A teacher should plan his lesson before he goes to his class, because
it heips him to :

(1) Satisfy parents

{2) Creatle happiness in the classroom

(3) Achieve curriculum goals

(4} Assign home work and classroom wark

U AETTF Bl FE H dR A 92 & I qrw B G g9r a9
oied % a8 Sge qedar & T o

(1) o=l & = g o
(2) FET H <5 Ier—7 F73 o
(3) 9ITISHsmH F g H gy o
(4 TEHd TF Ferenrd ga ey §

12
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30.
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Every school | subject has a disciplinary value," it means, that :
(1] It brings discipline among students

i2] It teaches certain habits and qualities to train the minds of
students

{3) Every subject is the outcome of the work of disciplined thinkers

(4) It requires disciplined methods of teaching
mﬁamﬁﬁm%w&ﬁmm@am%”m
s B % -
(1) 7= o=l 7 Srgemas W &
(2) 3E =l B e A o omEl oF it § nivdae @t @
(3) O fawg st Riert & s #1 oqes §

T8 argenfa Reor ffe @ smeasaws o ®

Indian education put emphasis upon :
(1} The tradition of Indian society

(2) To give Honour to elders & teachers
[(3) Cultivation of values

(4) All of the above

wreett firem e ¥R 2

(1) ¥R §A # 9O 97

(2) TE9YH Ud WS H G 9T

(3) W &gy $ dads v

(4) IIOR A 9

13 P.T.O.



14U/94/4{ii)

Section-B
GHUg-q
1n 2
31. [ tdx=2[rxyax if
o il
f (2a-x) is equal to :
2u A
J'f{x}dx=2_[f(x}dx if of
[ Q

f(2a-x) s¥ET &
(1) T1(2a) (2) f{x) (3)

- f (=}

(4) -1(2a)

32. The time period of an SHM of intensity p and amplitude a is equal

(Lo 3

pﬁﬂﬁ@aﬂmaﬂmmnﬁ’rwﬁ?ﬁmw%:

2x£ 2ma™

W “E @ g

33. The function f (x} = x|, atx=0is -
(1) continuous and differentiable
(2] continuous but not differentiable

2ma

TLE Ui

Jr

{3) neither continuous nor differentiable

(4) only differentiable
BT f(x)= |x|, x=009T & :

(1) IOdT T2 AFFHAY

(2) HAT 9] FAaHoHE TEt
(3) 3 @ 999 9 & AgwaTg
(4] @A Ierehelir

2n

(4) A

34. Number of constants in singular solution of an differential equation

af degree n 1s

nwimﬁﬁﬂﬂw%%ﬁaﬁaﬁﬁuﬁﬁ

(1) @ (2) 1 (3)

14

2

&t T B &

{4) n



35. If x=rcos®, y=rsinf, the :

36,

37.

) ()

% x =rcosh, y=rsing, @l :

(5) (33 -

(1) 0

If x=rcos®,y=rsind, then:

a(x. ¥} _
a(r.8)

afg X=rcosf,y=rsin@, @l :

B(x.y) _
o(r. &

) r

(2) 1

(0

& "

g2 u=F(-E-J, o x_—+y
x

(1} O (2) 2

(3 -1

3) =

(]

(3) 4

15

14U/ 94/ 4{H)

(4} 2

(4) r

{4) fix)

P.T.O.
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38. The minimum value of {Z-1| + |z{ for complex values of z is :
iy dem 2 & A 2-1] + |z H FAdH A B

(2 (2) 8 o {4} 1

l
2

39. The volume of the parallelopiped whose edges are represented by

A=2i-3j+4dk ,b=i+2-k &=3-}+2k is:
g Rt BT g =0i-3j+ 4k b=+ 55—k F=3i-j+2k & gefifg
2, T AIEA 2

(1) 3 2 7 3) 9 (4) 11

40. The vectors 2i-j+k, i +2j-3k and 3i + g+ Sk are coplanar if a =
W 2i-5-k, i+2j-3k M 3]+ 445k aoaeig ¥ afy 4 -
(1) 1 ) 3 (3] -4 4 s

41. Dircctional derivative of ¢ =xyz' in the direction of vector 2i+j-kat
the point (2, 3, 1} is :
wEwr 2i+j-k @ Rew A (2,3, 1) 9@ ¢=xyz’ T Reg-smsast 2 :

1

4
0 I @ ~F @ (4)

YIS
&l

16



42. Curl =3 is equal to

Curl ixi TET &

14U/94/4{11)

(1) 25 (2} -23 (3) 33 4) -z
43.Let r=xj+yj+zk. Thendiv i =

H a1 f=xi+yj+2k T div i=

1y 1 2) 2 (3 3 4) 4
44, E.{EKE) is equal to :

a{bxe) TR ¥

(1) &(axb) ) -(#b)e (3 (exb)a (4) &x(ab)
45, Differential equation of the orthogonal trajectory of the family of curves

f(“dfr%]:ﬂ is :

B o f[w-%]% & diftesE IR T T T 2

dr)_ g
f = |=0 f
(1) (*-F % @ f

d]: '
@ fog)o o

17

P.T.0.
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d
46. The integrating factor of the different eguation (I+ Kz]d—i' ty =tan'xjg :

d
FITA FRBT (1+x") - +y =tan'x 37 TR pores & -

“] alm [2] Eun" x {3} g-lan x [4:' tan x

d: ¥
47. The order and degree of the differential equation d_x%Jr X +(%J =0

is

d’ dy Y
Srne TR S “[E} =0
& W ofT awy & -

(1) (2,2 (2) 3,2) (3) (2,3 (4) (1, 3)

48. The orthogonal trajectory of r = a (1 —cosg} is :
r=a(l ~cosg) i wfa® IRl B -
(1) r=c(l+cosp) () r=c¢c(1-cos8)

(3)  r=(1+ccos’e) (4) r=csin%

18
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49. The singular solution of the equation ¥ ~ PX +E is :

a
HIﬁHT{“TY=DK+EEﬁTﬁﬁﬁ'ﬁ%1

{1 Yz"-’rx"'E 2) }'=K+E
) = ( -
@) y=xi+e () = dax

dy _1+y

The solution of differential equation is 5=~ 1,2

dy _L+y :
S T o ST P e S
(1) y+x=c(l+xy) (2) y-x=c(l -xy}
(3] y-x=c(l +xy) (4) y+x=c(l-xy

: zlxl 331; 44 '3
B1l. For the series X+ = + 3 + 4’: =

2.2 O | 4 4
2x  ¥x L Ax ¥, B R -

LI TR TR
B
m @ - @ = @ Fa
P.T.O.

19
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I il

| g
52, [fu =3 {n‘+])-n and Vv, -5 , then lim=—";

"

qfEr u_ =3 (n’+l]-n ANt vn=-1—: ar lim = Y=

" o Y,
| 1 2 —i- 3 l 4 .1_
(1) @ 3 @) 3 @ -
: 1. .
53. The series Zn_" 15 convergent if :
|
(I} p=1 (2) pzl 3] p<1 (4) p=i
1 5 9 13
les —t—t—+—=+__ is :
54. Thﬁscnesz’rﬁ TRET is :
(1} convergent
(2) divergent
(3) oscillatory
(4) netther convergent nor divergent
1 5 9 13
syofy ‘2—"'6 +ﬁ+'ﬁ+ ......... % .
(1) T (2) aTETE
(@) (4) 9 frEmh T @ orrard

20



55.

6.

57.

38.

14U/94/4{ii)

For the series Z::—;%
|
ot 2 @ Red
limU_=
(1} O (2 -1 (3) 1 4) w

The equation of the plane through the peint (1, 1, 1) and
perpendicular to the line

X-2y+2=2,4x+3y-z+1=0is:

&g (1,1, 1) 8 BT o @ S Y@ x -2y + 2= 2, 4x + By -7+
1=0 % T=aq G99 A T B

(1) =x-5y-1lz+15=0 (2) 2x-3y+7z+8=0

{3) 2x-8y +9z= 18 (4) 2x-5y+72+7=0

The image of the point P (1 , 3, 4) in the plane 2x - ¥y+z+3=0is;:
g P (1,3, 4) % ofofes oaaat 2x-y+z+3=-0 3 ¥ :

(1) {1, 5, 2) (2) (-3, 5,2

2 (1,4, 7) (4) (2,5, 8)

The distance between the parallel planes 2x - 2y + 2 + 3 = 0 and
dx -4y + 22+ 5=01is:

g FHIAT AHAEA! 2x -2y +2+3 =03 4x-4y +2z+5=0 & &g
w ol B

| 1 1 1
(M 3 2 < @) 3 41 3

21 P.1T.0.
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59. The angle between the planes

3X-4y+5220,2x-y-22=5 g :

[Tl 3X -4y +52=0,2x-y-2z=5 3 e T B

B H

(1) @ 3 3)

™

(4)

| A

60. The length of the perpendicular from the point (4, -2, 3) to the line

X-5 . .y+2 .6
TE = 18 ;

3 4 5
g (4,-53 @ @

X:5_¥+2 _z-6

3 4 3

W g T 7= @ g 2

7
(1) —J;: (2) L;;l (3) irf—z (4) @
61. The shortest distance between the lines -

Tarat & @9 =Aaw of §

Xl_y2 23 x2_y3 24 .

2 3 43 g 5 ls:
(1) © 2) 1 (3) 3 (4) J5

22
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62. The condition for the planc & + my + nz = p to touch the conicoid

ax* + by’ +cz?=1is:

a9 k+my+nz =p B [0 qEE9T ax? + by? + cz? = 1 B WA HA
oo B

l;) m! n}

212 2 ;e T Grlgedifra 0 SRR e

(1) al®+ b*m?+ ¢?n? = p? (2} S P
F+m2+nz_

{3) a_z h_:' -EI__FI (4) Im+ ml+ nl = p?

. The surface represented by the equation yz + zx + xy = 0 is :

(1} Cone (2} cylinder
(3} sphere (4) ellipsoid
FHEHLT yz + 2x + xy = 0 B W& g= 8
(1) 9g (2) &

@) T (4) et

X x

Let multiplication in G = {[ ]:x elR, x= ﬂ} be multiplication of 2 x

I x

2 matrices. The identity element of G is :

w v G={[i :]:IEIR,I#Q} 7§ Iom 2 %2 AEE & W R A
G & §HE 99T § ¢

{
5 11 10 00
1 (2) L 1] (3) [ﬂl ® o1
2

23 P.T.O.

(1)

Ed | = b | -
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63. The number of generators in infinite cyclic group is ;

67.

(1 1 2) 2

(3} infinite (4) not definite
T g% g F A7t 3 dew &

(1} u® @ @

(3) o= (4) I

Every subgroup of a cyclic group is :

(I] normal

(2} not normal

{3) normal only when the order of the subgroup is prime

(4) normal when group is of prime order

TH 9 H9E W TS IUEE ©

(1) 9HFE=

(2) SE™g Aéf

(3) G Baw T IYEGE A Hfe ofr 2
(4) FEFFY 59 998 ©fF dif g 2

1 2 3 4
The order of the permutation [I 3 4 ZJ 18 :

W(:jj;’]aﬁm%

(1) 1 (2) 2 (3} 3 (4) 4

24
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69.
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If a, b are elements of a group G, then (ab)! =

afe o, b et WyE G, & oaygg & @ (ab)! =
(1) a'b? (2) bla’ (3) ab! (4) ba?

The rank of the matrix is :

02 3
0 4
0 6
0 2 3
aﬂ?{ﬁ““ H Fife B
0 6 9
(1 © 2) 1 (3) 2 f4) 3

The set of non-singular matrices :

(1} forms a group under addition

(2} forms a group under multiplication

(3} forms abelian group under multiplication

(4] does not form a group under multiplication
Ffafe= a=gEt @ A=y

(1) AT B I TF TIE T 8

(2) T B TG UF WIE AR &

(3) oW & srria siffeaT wE ST @
(4) O B AT TH TS TE G

25 P.T.O.
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7l.

The value of the determinant :

265 240 2]
240 225 198
219 198 18]

HRTE H1 oA R

(1] 20 (2) 25 3) © (4) 1

72. A body is projected horizontally with a velocity of 4m. /sec. The velocity

73.

of the body after 0.7 second is (take g = 10m. /sec.?)

%ﬁﬁ4rﬁonﬁrﬁ%ﬁ%aﬁﬁ%ﬁmﬁ'ﬂvﬁ$ﬁﬂm%|m
AT 0.7 FDvs gyarg Bhm (8= 10m. /sec.? i)

(1) J37m./sec, (2) Je1m./sec.
(3) V63 m./sec. (4) 85 m./sec.

Il the particle at O is in equilibrium then the magnitude of Qis:

qﬁoﬁgnaﬁémﬁmﬁwﬂ%ﬁaawqﬁm%:

(1} Jf7p (2) (4} 25p
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76.

14U/94/4{il)

A bullet hits and gets embedded in a solid block resting on a
frictionless surface. In this process :

(1) Momentum is conserved
(2} Kinetic energy is conserved
(3} Both momentum and Kinetic energy are conserved

(4} Neither momentum nor Kinetic energy is conserved.

T IR a9 W et uF S ed 7 om el st ad #
AT At B o3y wiear A

(1) 3T e 2

(2) TR St wRE B

{3) I FAEAT ug RS ol G 8

(4) 7 & omAT wita ¥ ofiw 7 Y R =t ddfdEm B

The eccentricity of the circle x* + y¥? =a% is :
g x2+y?=a? B Ieheae B o
(1) 0 2) <1 (3) >1 (4) 1

1 1
The radius of curvature of the curve J; + J;=I at [?E] is :

aﬁ&+ﬁ=1aﬁmﬁmﬁ§[ifﬂ¢{%:

i i 1

(1) 2 7 3) 5 W 5

&l -

27 P.T.O.
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77. ify = sin (a sin"! x), then (1 - x¥ y? is equal to :
4% y = sin (a sin? x), &Y (1-x3y? ST &

(1) {1-y¥ (2} a*{l-y3
(3} a?(1-x% (4) a?(l+y3

78. The whole length of the curve ¥y =x7 (a®-2x?) is :
am y? = x? {a-2x?) B Pf ward §

(1) =xa (2) — 3) — (4) 4na
79. The value of [0sin’0 d8jq .
o

[osin’e 40 5 mrp B
1]

r 2x 4x in
i = 2 = @ 9 =
= tan” | =5 X .
BO. If ¥ [Hsinx],thcn FRRLE

l+sinx

afe r=tan"[ s ],a‘r d o

|

3 -= (4)

Lad |

!
(1] 7 {2)

28
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The Central Limit Theorem states that :

(1) if n is large then the distribution of the sample can be
approximated closely by a normal curve.

{2) ifnislarge, and if the population is normal, then the variance of
the sample mean must be small.

(3) if n is large, the sampling distribution of the sample mean can
be approximated closely by a normal curve.

(4) ifnis large, then the variance of the sample must be small.

SR @1 I T AT B

(1) A& n =21 & o ufdest @ de9 = O @ & @iy
Hela & d%ar 2|

(2) IR n =TT & I wmw wEm & O wfie G @ ogETor
ST BT =18 |

(3) 4% n F1 @ dr oftest 9 F ofeas &= o% yamTg 9
& T JTENT & T ¥

(4) T n T[T T O AR T gWT BT @M aifan |

Given the data
Commodities
A B
pQ 1 1
q@ - 10 5
pl 2 X
ql 5 2

where p and q respectively stand for price and quantity and subscripts
stand for time periods. Find x if the relation between Laspeyre's (L)
and Paaache's (P) index number is L : P :: 28 : 27.

(1 4 (2) 12 (3) 7 4) 6

29 P.T.0.
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83.

&< e #
a5y
A B

po 1 1

G0 10 5

pl 2 x

ql 5 2
ﬁﬁpeﬁrqmmqﬁw%ﬁ&qﬁqﬁ%ﬁﬁwmﬁ

&l x 9T aft i (L o (P) Y dwrall

WWL:P::EB:E? Al

(1) 4 2) 12 (3} 7 (4 6

Increasing the number of periods in a moving average will accomplish
greater smoothing, but at the expense of :

(1] Manager understanding (2) Accuracy
(3) Stability ' 4) Responsiveness to changes

wnﬁm%%m~wﬁﬁw@wﬁﬁmﬁgﬂmm
'@Fﬁﬁﬁ:‘ﬂ%ﬁ?ﬂﬁ:

(1) S=Y% =N GHeErH (2) HevelaT

(3) Ferwam (4) uRads a7t gfafear

IfL,=6,93,435 and L;, = 6,90,673 then what is the probability that g
person of exact age 20 will die within one year ?

(1) 0.00762
(2) 0.00123
(3) 0.00398

(4] The probability cannot he obtained on the basjs of this
information.

30



85.

14U/94/4{ii)

A% L, = 6,93,435 3T 1, = 6,90,673 & & 3@ ST A WiywAT w=a
et 6 20 ad = ow =f o ad ¥ g B o @ R
(1) 0.00762

2] 0.00123
(3) 0.00398

(4) S9 YO B YT 9T il Wi T8 #t om west

Are all employees equally prone to having accidents ? To investigate
this hypothesis, we looked at the following classification of the

accidents by the type and the age of the employees.

Age Accident Type

Sprain Burn Cut
Under 25 9 17 S
>=25 61 13 12

A chi-square test gave a test-statistic of 20.78. You may assume that
the tabulated value of chi-square at a = .01 is approximatety 9.0.

What is your conclusion if you test at g = .05 ?

{1) There appears to be no association between accident type and
age.

(2) Age seems to be independent of accident type.

(3] Accident type does not seem to be independent of age.

(4) There appears to be a 20.78% correlation between accident type
and age.

31 P.T.O.
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86.

wnﬁﬂarﬁgﬂemaﬂ%f%ﬁmmﬁqﬁnmﬁﬁﬁ?gﬂ
Wﬂﬁa%ﬁ&mgﬁw%mﬁﬁmﬁﬂaﬂw
® fora Freafoiam wftoh @ 2?8

gHeT 3wy
HATY Y 6w oum uTe
25% g 9 17 5
>=25 61 13 12

qmchi-aﬁwﬁwﬁmmaﬁqﬁﬁmmmm,mmgMim

%WHﬁﬁgﬁﬁchi—ﬂ‘fﬂﬂﬂﬂﬁlﬂimﬁa=.01ﬂ$ﬁﬂ—$ﬂ39‘0

&1 U freRt war @ aft e a =.05 97 gfierT vy ¥ 7

(1) @m%wwmﬁﬂﬁw%ﬁaﬁéwmﬂﬁ
BT |

(2) Y FHeT B wwT | w@Aw whT By )
B) GHET T R o § ' wh wd s B
(4) gﬂw%wq&eﬂg%ﬁazu.m%ﬁm—amﬁﬁé}m%l

We wish to draw a sample of sizc 6 without replacement from a
population of 50 households. Suppose the households are numbered
QL 02 s » 90 and suppose that the relevant line of the random
number table is showing the digits 11362 35692 96237 90840
46843 62719 64049 17823. Then the number of the selected
households are ;

(1) 111336622335 (2) 1136230842 45
(3) 1136235697 gg (4) 1135234246 19
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Soud @ U% gUU & B9 6 oNE @ U st R sRrewr
Rifty & gy < e ¥ | 9 SRR B A @) 01,02, .
spmﬁmwﬁmw%qﬁnﬁﬁﬁ{éﬁﬁq@m
g Giell &1 Juga GieRy 11362 35692 96237 90842 46843
gzﬂg 64049 17823 TEN H wuiay &) A A gL 9 A HEA

(1) 11133662 23 35 (2) 11 362308 42 46
(3) 113623569296 (4) 1135234246 19

Which of the following are true statements about sampling error ?

A. Samplingerror can be eliminated only if a survey is both extremely
well designed and extremecly well conducted.

B. Sampling error concerns natural variation between samples, 13
always present and can be described using probability.

C. Sampling etror is generally smaller when the sample sizes larger.
(1) Aand B (2) AandC (3) BandC (4) A,BandC

Prafafea & A9 @1 gREaE g @ R ae gwed E 7

A SREEA g @ serEr o1 wEM ¥ aaw 34 Wiy wEhE wd
mﬁmmmﬁmﬁqﬁﬁr@mﬂmﬁm
R g e fhar w8

yﬁmﬂgﬁmﬂéﬁﬂﬁmqﬁaﬁﬂﬁﬂﬁﬁﬂa%ﬁ
aﬁsn?m%aﬁ?mmﬁﬁnwamﬂaﬁﬁmm
TEHT B

£, nﬁwgﬁm:ﬁaéﬁm%a&ﬁﬁnﬁaﬁ?mmtﬁl
(1) ATEB (2) ATEC (3) BWEC (4) A,BEEC

B.

The number of traffic accidents per week in a small city has a Poisson
distribution with mean equal to 1.3. What is the probability of at
least two accidents in two wecks ?

Mﬁmﬂuﬁmm@ﬁmﬁmgﬁwﬁa&mﬁ
1.3m%w#ﬁmaﬁmmm%|amﬂ
9 @ P9 A gHSSR N g w2 ?

(1) 0.2510 (2) 0.3732 (3) 0.5184 (4} 0.7326

33 P.T.O.
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89.

90,

21.

[n a statistical test of hypothesis, what happens to the rejection region
when a, the level of significance is reduced ?

i1} The answer depends on the value of g .

(2) The rejection region is reduced In size,

{3) The rejection region is increased in size.

(4] The answer depends on the form of the alternative hypothesis.

ﬁm%%ﬂfﬁmﬁuwfimﬁﬂzﬁﬁﬂawwaﬁr%
aﬁrﬁsu,m&iﬁnmmmmﬁmmj

() B & " 9% Iax fslk @gar B

(2) TR &% PR ¥ T & W B

(3) ol &5 s ¥ arfer & oy 2

4] w%mﬁm%mwﬁrﬁ?mél

Inatestof H : p =04 against H, : P # 0.4, a sample of size 100
produces Z = 1,28 for the value of the test statistic, Thus the p-value

(or observed level of significance) of the test is approximately equal
to:

Hﬂ;p=0.4%ﬁﬁaH_:P#o.4%qﬂmﬂﬁmI}aqwaﬁrsﬂ%wsf
mwmﬁma%%w%ﬁﬁzﬂgan@am%lwm
qﬁmwmp-m(memﬁrﬁﬁmﬂmmwm}wmm%:
(1) 0.90 (2} 0.40 (3} 0.05 (4) 0.20

If there are 6 treatments and 4 blocks in a randomized block design
then degrees of freedom for error is -
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Which of the following is not a necessary assumption underlying the
use of the Analysis of Variance technique ?

(1} The sample are independent and randomly selected.
{2) The populations are normally distributed.
{3} The variances of the populations are the same.

{4) The means of the populations are equal.

e faseyer fafy & ader & s Profaieg # €59 amaras
e Y & 7

(1) "Rt @dy o agies s @ g9 ™ &)
(2) 9 vEErg =g # dfeq &

(3) AW & 9EIOT TH AT o |

(4} HEE H AT FOSL BT

if X, and X, are independent random variables with moment
generating functions

11 3 1Y J
M1(1}=(E+Eﬂt) and MJ‘F(;"'EE'] +{€R | respectively. Then the

value of P(X, + X,=1) is :

] @A = X, 9N X, B Yol Ia wH A M.(t)=[-:i+%c']

GﬂTMI{lF[%*&E'] JER, B PX, + X,=1) & 91 BPT :

(1) i—: (2) :—Z (3) f'[%] (4) 6[%]

35 P.T.O.



14U /94 / 4{ti)

94. If the distribution function of a random variable X is given by :

0 :
i ifx<-8
i ifx>@

Then P (x >g-1) is equal to :

e 4 g 1
(1} tifo<s; Lirgal —ife<~;1if02 L
2° 728 ) gt OugilEeag

. 1 1. 1 1
(3) 0ifB<—;—if@2— 4 ——if«t-]-r:-]ui'fEl;=:l
228 @) Fgife<yilirezs

Atk % AgRe® WX X W aERar s Rar @

1] :

i fx<-8
F(x)= E(EHJ iffa:]s 8.0>0

1 ifx>8

W P{x>g-1) & "9 & gy

1 1 1 l
(1) lq&ﬂﬁ?ﬁnﬁﬂai (2) ——ﬂﬁ.‘ﬁ{—l.;]qf&ﬂgl

20 2 2

I 1 1
(3 DaRO<—;,—gmroz2_ 4 X 1 1
278 > (4} zaﬂ&ﬂﬁz,lqﬁtﬂég
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95. 1f you buy one ticket in a game, the probability that you will win a

96.

97.

prize is 0.11. _[i: you buy one ticket each month for five months. What
is the probability that you will win at least one prize ?

it g et gt & feme @iied & a7 a9as RLEALS
e it 0.11 ;ﬁmwﬁaﬁawﬁgw
TS HEE J A ¥ @ AU F BT R Y OF g SR A

TR #9418 7
(1) 0.55 (2} 0.50 (3) 0.44 (4] 0.45

Which of the following is NOT correct about constructing histograms?
(1) The approximate number of classes is 1+3.3 log (n).

12] All class intervals should be of equal width.

{3) The bars of the histogram are centred over the midpoint.

(4) The first and last classes should be open-ended to account for
extreme points.

A o & g F Frefafad & 9 ar ad a8 &7
(1) @ifiesTor @t S @ 1+3.3 log (n) EFN =23 |

(2) & 2oft arFaae T s e & A 91RY

(3) T o & 3vs 7eg farg WX Bfwa 89 aifEd

(4) g X wifvd at A frgelt @ fow gen e =Ry

One use of a regression line is :

(1) To determine if any x-values are outliers.

(2) To determine if any y-values are outliers.

(3) To determine if a change in x causes a change in y.
(4) To estimate the change in y for a unit change in x.

FHIHTO @1 H TFH ITET 6

(1) a8 Fi¥=a &0 BB = g 9= g &)

(2) TE M= & B == S y-AaE 1w g

(3) %Eﬁrﬁﬂﬁm%amxaﬂqﬁéqﬁaéﬂyﬁqﬁaﬁﬂmm
|

(4) x ¥ FE afiada @ &3 y § gRaEdw & e HET |

37 P.T.O.
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98. The value of a correlation is reported by a researcher to be r = -0.5,
Which of the following statements is correct 7

(1) The x-variable explains 25% of the variability in the y-variable.
{2) The x-variable explains -25% of the varability in the y-variable,
(3) The x-variable explains 50% of the variability in the y-variable,

{4) The x-variable explains -50% of the variability in the y-variable.

wﬂ%ﬁmwwqﬁr=4.5WW|ﬁmﬁ%aﬁﬁ
T nad it R 7

1) x-9X y-HI #H 25% TRESASTT a9y 2

(2) x-=T y-uT &H -25% IRadefiear samm 3

(3) x-IT y-=X ®H 50% IRTdefaar gamEr )

(4) xTT y-O9X H -50% yRREdefaar samar )

99. What is one of the distinctions between a population parameter and
a sample statistic ?
(1) A population parameter is only based on conceptual
measurements, but a sample statistic is based on a combination
of real and conceptual measurements.

(2) A sample statistic changes each time you try to measure it, but a
population parameter remains fixed.

(3) A population parameter changes each time you try to measure it,
but a sample statistic remains fixed across samples.

(4) The true value of a sample statistic can never be known but the
true value of a population parameter can be known.
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U §7 9= Od 0% AR aitedn @ die s s am @7

(1) W &= ATt daw IRE a6t T smaia @ ¥ oy o
mmﬁmﬁuwﬁmqﬁ%ﬂﬁ?ﬁwqrﬂaaﬁﬁqﬁ
T B 2

(2} T Jhrdt Wi g@% a1 aftafda e & o oy =@ S
B BT B ¥ Ry OF wEW wEA e @ ¥

(3) OF AW gree g WX uftafta @ar R oo e 2@ ameR
Eﬁﬁfmﬂﬂﬁ?qﬁ@ﬁnﬁﬁﬁﬂfﬁbﬁﬁﬂnﬁmﬁﬂﬂéﬂﬁﬁﬂﬁ
BT T

(4) o ofoad wifrsa & arafs o 9 gra T8 B o
T 9] T ¥ 9EE B qRids 519 9 8 wemar 2

100.The results of 10 students in a test are listed below, Determine the
value of x if the mean score is 76 *

108 & o gherr & wa o Y ghas ¥ AR ama siw 76
B W x W A A

Score Number of students
45 1
65 2
75 3
X 4

(1) 80 (2) 85 (3) 90 (4) 95

39 2000
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i1.

12.
I3.
14,

i & fau fdw
(¥R QIA®T & S2% J7aT07 0% Uy 4wy IuT-uy & g9 pel o
wawr feft-wreft wror-wrye o7 @ o fored)
¥ Y e & 10 free & s # 2w & 6 TvEer F ot g e & ot e
¥R 21 T &) qfer 0w TR TR W e gEAT deEe wa-Grigs ® e wept
WY B A [ T WA
o{igl w99 F vy o wdr-aw & atate, fGE @ @@ A o gon e e
d 7 ar
InT- g% FFeT 8wy may & ¥R 7 @ @y J 7 faEw w1 o I9v-vn 90 fa A
ey IUT- X &1 ¥7 e ey
AT SR T IT-TF T FHIS T @098 W AR T it wm @ )
FR-9% & yaq g2 @ 47 & W spwwaw eife vow a7 forgd vy 5 gt w5t
gt &7 & oyl-oyl amrvew wt awl -y0w 1 sWE v dz = AT 3R
a7 ferett
o THe Ho UF O FIHHE GBI, AFGIAIET HOAT ¥ Hz wEw (AT Y w) aw
FYftasT O FPEHE I Ao Tho FTo TX AW B WAEW ¥ Ffivw wF sy
i
I TS 7 Sy o uftaT sa Gtes gy sanony gy anid s oy O g
RN &7 N9 W W
o - gfRwr § raiE 9v7 & ar 4w Fw i v 1 aed wve & %% T &
HE} FA-0X K TR Gl & g G2 7 gw w) IuT-99 & vaw g gy 44 R
v & s &7 8 myr s
¥l ¥ & I & [T et O & g9 A T S w3 g6 e =9
W 34 UF gd @ Ul MR T 9% I9 e 91 Smdm _
sar7 3 1% @ M @ @ A% I9 agen T W wwaAr §1 9 aww el wew w I
¢t & eyt &, ot wufew ofERy & word R 7@ it gt &t @t oYy &) @0 ST AT
& 158 iy
mm%mm—m%g@m%ﬁﬂwwmmﬂﬁhﬂ%aﬁﬁqw
& ¥ =)
W& & YU S S QF ST IHT-9F T wEA ° o w3
T W A W wEet T W ® A 93§ sEy a8 i
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